T

op

@ x*-9x+20 = 0{4}

D x2+2x-3=0{-1}

@ x*+4x-12 =0{6}

5
® 2x2+x—15:0{§}

® x2-9x-22=0{11}






3x

(x=6)(x-1)

.

ul

-

ul






the o] oA g4: Fol A 17 ofe 2 B

1
O y=-x @ y=4x? ®y ?

1
— 32 ® y=-34






7. olAFE y = —2x% - 8x — 7 9 2T} AtA] g AR 29

O Al 1AHEH @ A 2AHEH
@ Al 3AFEH @ A| 4AAMEH

® R AREHS Ad.



=

oo

F Wi av =00l 57

D az0EE=Db+0

@ az0clibz0
@ Cl;&OO]—T’_b:O

@ a:oo‘libio
@ a:OOlinO



o
afl

o

!

22 +ax+3a-2=

7P

o

9.

?

s

q_

@0

@ 4

@ 3

@ 2

1



o8 % of

parg A

48 S BESHE x o ghe Totolel.

2x2-9x+9=0, 4x2-8x+3=0

Be -




® 27 @ 37 ® 47y




12.

O A AHA 3x2 +6x-5 =02 (x+p)?=q9
p+3q 9 #2?

® 10 @ 9 ® 8 @ 7



o_‘._
M o

1]+ \/(—5)2—4><2><E]

QXD

@ 1 ® 2

® 0



14. o5 J™-2 y =22 +¢ 9o 2ol ¢ 9 gh= F5tof=t

’yl\

|

N IR
o

Sy



29

(Lp)E Adt. pol g

3|
=



16. Yol 5] eJsto] BB y = L2 41 o] T2z} g

: A5 Zo)7]
2] e ALY
1 9 Lo
©y=30k-1) @ y=-5x-1
1 1
@y:§x2—2 @y=§(X+1)2‘1

1
@ y:§x2+2x+3



1 -
y= 5(x—4)294 T m} yET} whs H o]y FIEL?

@6 ® 8 @ 10 ® 12



18. oA HA a2 +2x+8 =02 F 22 go] x2-2x+a =02 L
o, a o] 327

® -2 @ -1 ® 0 @1 ® 2



19. oA AHA 2 +ax+A=09 Folx=B+ V3L W, A-B 9] g
stofet.

5 J=X
=%



20. o5 oA AA ax® + bx+ ¢
®ofl Eo1 Ao] Bt=4] Z3t A

ax>+bx+c=0
b c

4 Sx=—=

ﬁ b b2 - dac
4a? 2a 2a




21.

o2t A 0.2x% - 03x -1 =0 o F T FolA E TSk 2L

W, & Bt 37 e AThe] A4S otolet,

D S
=%



22, (x-4)(x+2)=-2x(x—4) W7t a, g & W, 3089 A7

@® -5 @ -8 ® 3 @ 5 ® 8



23.

(x=y)(x=—y—4)+4=0<L o, x—y 9 G2?

® -2 @ -1 ®0 @1



X + + == —;I O
a 1
o] 1 m

HF
1794

17}

24.

e

i
B

@
b=009]

® a
>0, b
<0 °olH A& ot
2719

e

il
e

@ a<0o°]

® b>00]



25. OlAAA (x+5)2 =l 7k 1AL W, 4 a®) 2 Fofelet

Bea-



26. T % 3x* —4x = 2x +m o] <= 2] 7] At m 9] G237

@D 4 @ 2 ® 0 @ -2 ® -4



ed
N
[yl
ay
ol
T
)
2 .
oy
=T
b
o+ N
=
NN
o o
TR
N
T OEK
o ol o
B e Ul
I~ =
NN
N~ |
I~



28. ojH AAFE AlFeoF & AL ARote] 28] & S E Y AlFS ¢
ZK k99 gha Ztobxlch. e Aafjof F g

O 64 @ 81 @ 100 @ 121 ® 144






30.

2HE 40m == A=Y F7]olA 2% 40m & 2o &7

50 0| pm gt o], h = 40r — 52 + 40 Q1 TA 7}
sttt WO RHE Eo|7} 100m € HE EA4S Aol 237
1 x 9917 BE fotofat,

Be 2
Be 2



31.

AR A 24 45m e WA 22 B
(155 - 5x%) meka G}, o] SA7H Ge] Wi
Fotofet.

Be 2

o

e 1o



Zo|7} 36em 91 AAR Hol7} s0em? 9 HAZIES
Alze] Zol7k 7o) ol Bek & uf, o] ZAzgel

4
L
=7

@ 4cm @ 6cm ® 8cm @ 10cm & 12cm



\:l_j_
E}__ E]]YI- Al Z 7 01
T O FAF 7}
ZFO A
= E = —|0A
BC
]}\
:'




34.

&, Az Aol7t 47} 6m, 10m 1 A4
714 mopo) sheo] 9}, of Bhere] Selof
Zo] A}, Yol som? Q) A4S W5
T, 20 %G 9 m i sjof s1=x] 75

ofet,

Sk .




1 =
35. y= §x2 +2x O] TP} AR P o9

@ A1 AHEH @ Al 2 AFEH @ Al 3 AT

@ A 4 A2 ® 94



